oS 1Yo A /BOC = 90°, /AQC =
60° ¢ o], LAPB 9] 47| 5l

>
>

0
it

15 °

B \
%40 9 A E olow 5.0ptAC o] 937}o] 60° o] B2 FAZH
(AOC = 120° o|t},

ZAOB = 120° - 90° = 30°

5.0pté_]\39f] ZA17F /AOB = 30°

5.0ptABS] 97 /APB = 15°




i
5.0ptBCe] 957+

LCAB =70°-40°=30°
(5.0ptBCY) F412}) = 30°x 2 = 60°
60°:360° =37 : (¥F)

L (YF) =31x6=187




3. the 179 9 0 o)Al 5.0ptCB = Qo] Eeo] Zole] & wjelz]
“s}olat.

(CAB =120°-60°=60°
/COB =2/CAB =120°

O 120° 1
.0ptCB = ¥=g|e = — (H
5.0ptC =99 360° 3(H)




4.  t5 Id"NA & 2718 Fshefeh

(ADC = 92°
/x = (EFC = /ADC = 92°




@ A © . © A D
85
105° 85°
5
B c B G B c
@ p ® ® A
A 130°()D ”l D
B[%a/\c %(X\ 50°\
B C B ¢

® 6,0 @ 6,6 ® 3,0 0,6
@o,0,6.06 ©6,06 6

C
D

A B

et ©, @7 Aol WA Tt




g 1
A3,
o] 27]

CT 719 02 A ), /DCT

fr oot

T} 2] bABCD 7} Ol W
T
?

@® 40° @ 50° ® 60°

@70" ® 80°

WA ABCD of| A

/ADC = 60° ] B &

/CAD = 180°-60°—50° = 70°
. /DCT = /CAD = 70°




the 2ol &4 0] 90 9 D
AL w2y - x o] 7h?

[} o 0
@ 40 @ 45 Lo O e
® 50° @)55° 2
y .
® 60° 41
B

A Fol o] F= Z+o] A of whet

(BAC = /CBT =41°

WA o] Ao whet

(BAD + /BCD =36°+41°+61°+x=180°
L x=42°

AABC oA /BAC =41°, /ACB = 42°
oLy =180°— (41°+42°) =97°

Ly —/x=97°—-42°=55°




a2 9 HH A, C, A A B m, 1= 2D A
¢x, Ly O] Fh& vEEA A2 A7

@Ax =84° sy = 34°
® 1x=85° sy =35°

® /x = 86° 1y = 36°

@ /x=85° Ly = 34°

@ /x=86° Ly = 35°

(ECB = /BAC = 62°
L/CAD = /x = 84°
oLy = 180° — 84° — 62° = 34°




th& 284 PT & ¢ 0 ¢ 4] AB & A5olth. /APT = 40°
o o, /PTA ] 27|15 3ozt

>
[> ®™eh: 25°

(PTA = /x 2} 5}
(BAT = 40° + zx 9|4
AABT 9|4

(40° 4 x) + x = 90°

2x = 50°

x = 25°




10. o I¥o)A 24 BE, DF = 9 0 o ZAY o, x ¢ 2715
I =

L
o

[ 2
> =g 50°

B \

/BAD = 180° — 110° = 70°

T A D, BE o]oW /FDA = /ABD = 60°
AADB ©J|A] ZADB = 180° — 70° — 60° = 50°
o Zx = LADB = 50°




11. o8 I1"HoA P = 25°, /BED = 60° ¥ W], /ABC 9 27| &
“Fotod et

B

AAEB ©f|A]

/ABC = x 2}
25°+x+x=60°
2x=35° ..x=17.5°




12. 99 54 0 oA AC o] & $A419 ¥F& P, OP 9 g4 ¢
0 7} = AL D g skt .0ODC = 62° € o, ZABC ¢ 27|12
ot 2t

V

[ 2
[> Heh: 56°

B ~

OD =0C °|2&
/0CD = /0DC = 62°
- 2DOC = 180° — 62° x 2 = 56°

(ABC = %AAOC = % x 2/DOC = /DOC = 56°




13. o2 18 d 0 9 AL, O 9 =L 4, /ABC = 30°
olt}, o]uff, DE ¢] Zo]&?

A

\~2-"0 O/ ~--4---~

AD=BD =2+V3, BO=CO =4 o2& A E X AABC 9

FASA o]t
AACD oA CD = 27 o]t}

.~.ﬁ:zwx§:¥




14.

o= 23 22 9 0 oA LACP +
/BDP 9] gt& 7517

O 86° @ 88° @90°
@ 92° ® 94°

A

~&B

HO%PE AZESIH
/AOP = 2/ACP
(BOP = 2/BDP

. LACP + /BDP =90°

. LAOP + /BOP = 2/ACP + 2/BDP = 180°




15, o3 I"HAA o
7~ VY N\
5.0ptAB = 5.0ptBC = 5.0ptCD ¢l
XU:‘ A’ B’ C’ D % Xl:‘]—j—, Zﬂ]/\\jAB
ot 214 CD ¢ S E 2 g
(E = 38° ¢« uj, LACD 9] I27|&
otoiet.

o

=
=i

>
> ®ehl 165 °

’—m/-\ N N\ N |
5.0ptAB, 5.0ptBC, 5.0ptCD, 5.0ptADg] ¥57+o] T2

3(38°+ x) +x = 180°,
114° +3x+x=180°
4x =66°

L x=165°




16.

oF& 194 AB &= 90 9] Aol BAC 9] o] 5EA7} BC 7}
Bt 2 P, 909 Wit 4e Qe Atk AP=8,PQ =5
2 uj, BP 9] ol & atolel,

d
A

C} -
H =

>
> ®EH 3410

B

APQB ABQA (- AA B)
PQ :BQ=BQ :AQ

BQ  =PQxAQ=>5x13 =65
- BQ = V65

~BP = v25+65 = V90 = 3V10




17. & 13o] 4 AB = 5, AC = 2 o]}, 5.0ptAD = 25.0ptAC < f,
/x ©] 27)2 Fatofat,

\VARR 4
X
i

18 ©

B ~

N 1 N
5.0ptAC = 3 % 2n =, 5.0ptAD = 2

/\ 1 59,4
.OptAB = = = —
5.0p 2><57r 5

~~ 5 1
2 5.0ptBD = -7 - 27 = §7r

VN
5.0ptBD 1 2

= —— = Ol — _ o __ o
X = S optap <00 = g X X900 =18




18.

o2 132 AABC oA H M & BC
o] Z4o]1, ABLCE,ACLBD ©o|t}.
(EMD = 50° & uf, /A o] A7|& +
SH?

® 25° @ 30° ® 45° @ 50° @65°

B

/BEC = /BDC °o]B2&2 Y] { B,C,D,E &

50° o]B22 /EBD = 25° ©]|t}.

g 4 9ol 3,

BM =CMolE2 M2 9] F4olt}. /EMD = 2/EBD =

w2t AABD 9|4 /BAD = 90° —25° = 65° ©|t},




19. o2 J"3 Zo]l 40 919 #H A, B, C
/N
7kl zx o] 2717 (, 5.0ptAB =
5.0ptBC)
@100° ® 110° ® 120°
@ 130° ® 140°

B ,

the oA A D, E S F oW /BDC = /BEA o]t}
WAAZHE AEDC oA /A + /EDC = 180° 0|82 x = /A +
/BEA = /A + /BDC = 100° ©|t}.




20.

042 720 A] 5.0ptAB = 5.0ptBC ©] 1
/BDE = 75° °o|t}. AC 9} BE 9] wd-&
P 2t g o], .CPE 9] 27| & Féloia}.

L
o

/N /N
5.0ptAB = 5.0ptBC ©|2&
(AEB = /BDC = x
OACDE of| 4
(CAE = 180° - /CDE

=180° - (75° + x)
=105°—-x
(CPE = /CAE + x = 105°




21.

de 2" A A
5.0pt24.88ptA/-\DC ol del= ¢
Z9 ; , 5.0pt24.88pt]§6]\3 9|
ol 947:9] 2 2w, /ADC +2DCE
SEFERCEEEES

n
o

(ABC = 180° x ; =120°

ABAD:180°X§:72°

. LADC =60°
(DCE =72°
(ADC + /DCE = 60° + 72° = 132°




22,

kS 1o A gABCD & € O o WA
3kl /DPC = 38°, /BQC = 40° & o,
/(BOD 9] 371&7?

@ 78° @ 82° ® 90° @ 98° ®)102°

B

/BCD = /x 2 o}H /ADQ = zx + 38°,
(DAQ = /BCD = x

AADQ 9] Al WZ+e] 2719 2

Lx+ (£x+38°) +40° = 180°

o Lx = 51° o[t}

u2bA /BOD = 2/BCD = 2x 51° = 102°




23.

kS 1o A gABCD & € O o WA
3kl /DPC = 35°, /BQC = 25° & o,
/(BOD 9] 371&7?

@ 100° @ 110° @120° @ 135° ® 150°

~&B

/BCD = x 2} ol'H, /DAQ = x

/ADQ = x +35° (HZ3 9] £17})

AQAD oA x4 25° + (x+35°) = 180°

S x=060°

webA /BOD = 2/BCD = 2 x 60° = 120° o]t}




24. & I1¥olM 279 ABCDE & ¢
O ol WHsta BOC = 112° 4 o,
(A+/D ¢ 27]?

@ 252° (@)236° @ 212° @ 186° ® 164°

B

AAGHC BExHE T0H
(D+/EAC =180°, /BAC = %x
/BOC =112° =56°

LA+ /D =180°456° =236°




25. A,B = A E°] MN, S40] C ¢l vkl 9]9] Hol1l, P = Hix]& CN
9] Holt}t. oACPB 7F 5t WAHE of, ,CAP = /CBP = 10°,
/APC = 30° ¢ ©ff, /BCN &?

@ 10° @ 15° @20° @ 25° ® 30°

S5 ~
YHA CP,BEIFIOY
/APC = 30° ,

(AOC = 2/APC = 60° (Y52t A7),

LCOP = 2/CAP = 20° ({527}t Z417}

CA =CB (Y125) 0|22 @9 o7} ZOoH F47te] IV
2,

. LAOC = £/COB = 60° ,

. ZBOP = 60 — 20 = 40°

=2

2117

.. /BCN = /BCP = %ABOP = % x 40° = 20°




26. AAFS ABCD 29 ¥ CD 919 A E oA tjZ-4 AC of Y $=412]
WS W, % AR AR o BH o QM| it AL F 2l a1

bl

(DAE = a 2t1 & o, /EHF 9] 37|& F5}toizh

ATg 2D
/,[
‘0
’ 1
B C

@ 5a° @ 4a° ® 3a° @ 2a° @ao

B \
/AHE = /ADE = 90° |22 4] A A, H, E
ol 9}, WabA T 5.0ptDE o tEt Y7 mE go
(DAE = /DHE = q ©|t}.

BD//HE |22

/BDC = /HEC = 45°, /DHE = /HDB

3t HD=HB ©|2& /HBD = /HDB =«

. (EHF = (HDB =«




@ s/ABC + /BCD = 180°
©O /ACD = /ABC
© (BAD = /BCD

® PAxPC=PBxPD

> g
>3E: ®

@ 2/ABC + /ADC = 180°
© ¢/ACD = /ABD
© /BAD = /BCD =90°




28. T}S 1204 CD = 9 O o] HAlo]
o}, AB 7} ¥99] #A|Z0]1 CD1BD

A o, AC 9] do|&?

@ 2cm @40111
® 2+3cm @ 3+2cm
® 4+2cm

B

/ACB = 90°, /BAC = /BCD °o|2&
AABC @ ACBD (AA %)

. 8: BC=BC:6

@2 =48, BC =4V3cm

o AC = 1/82-(4V3)2 =4cm




29. ts I A P = HAECl 5

91 0 o] AHo|1, BCLPC, BP = A
45 4 o], APBC ¢] Y o]& £5}o]
a}.
P B
C
» =
> =g 16

~&B

AAPB 2 APCB

AB:BP =BP:BC

AB xBC = BP2, 10xBC = (4V5)?
. BC=8

PC= VBP2-BC2= V80-64 =4

2 APBC:%xWx%:%lexs:lﬁ




30. thy 1gOIH H4 TA £ 90 © Faloln 5.0ptAB = 5.0ptBC =
5.0ptCD, /DAT = 60° ©|t}. /BAD 9] 27]& F-otofz}

>
[> =l 80°

BD & 1°WH /BAT = /ADB
Vo N 1
5.0ptAB : 5.0ptBD = 1:2 0|02 /BAT' = 54BAD

60° + /BAD + %ABAD = 180° |22 /BAD = 80°




31.

ok g7 o] A P el 4 o] 45t
1, AP =3cm, BP =9cm, CP =4cm
2 o), BP 9] Zolg Falofet.

= - 12 cm

T Y FTHAEF & 1oH
/APE = /ACP, /FPB = /BDP ©]t}.

. LACP = /BDP

T3, LAPC = /BPD (. 927} oft}.
. AAPC = ABPD (AA %)

w2kA PA : PB = PC : PD oA

DP = PBLPC b =12 (cm)
PA 3




32.

TF Tl A P o] FHel: A4 TT = P & Atk
Halolth. thg % $7) 9 ALY

® /PDB = /PCA ® (BPT = /ACP
® /BPT = /BDP @ AC//BD

()BD:AC-AB:BP

® AAPC ~ ABPD ©|22 BD : AC = PB : PA




33. o2 2"} Zo] A P oA Hst= F Yol tiste] AP =6, BP =
5, DP =74 o, PC 9] Zo]&=?

TP AE 109

(ABP = /APT, /APT = /T'PC (¥ZE#]2}), /T/PC = /PDC
.. LABP = /CDP

T35t /BAP = /DCP, /ABP = /CDP ©o|B2&

APAB ~ APCD (AA ©2)

u2tA, PA: PC = PB:PD o|B&

6:PC=5:70°]|ch

—42
PC =
5




